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#1 — 3: Identify the number of solutions for each system. If the system has at least one solution, then solve
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#4 — 7: Use any strategy to write each matrix in row-echelon form. Then give the solution to the system.
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#8 — 13: Perform the indicated operation, if possible, using the matrices below
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#14 — 15: Find the values of x, y, and z so that the following matrices are equal.
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#16 — 17: Solve each system by using the multiplicative inverse. S‘e/+ M’P

3x+5y 9
IQ SN S

2 5)x00n)
KR

MEH

15) 3[x 2y — 1] [—-12 21

e MaALrex

eqwt\cw\’
7x+2y=0
17){2x+y——3

MHINEY)
3]k )]
G0



